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Which version of the Exam was harder? 
Last year, East Kentwood High School had 30 students take the AP Statistics 
Exam.  We were informed later that the College Board gave two versions of the  

Exam, which were randomly assigned to the students.  Here are the results:
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 be the true mean score if all students were assigned Version A.  What is 
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 be the true mean score if all students were assigned Version B.  What is 
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What is the difference in means 
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Mr. Wilcox believes that Version B is unfair because it was a harder exam.   Do you agree?   Explain.

Suppose that the version of the test has no affect on the student’s AP score.  Then a student would have the same AP score regardless of whether he/she was assigned to Version A or Version B.  In that case, we could examine the results of repeated random assignments of the students into two groups.

Let’s see what would happen purely by chance if we randomly assign the 30 to the two versions of the test many times, assuming the version of the exam make does not affect the AP Exam score.
Activity: Write each of the 30 AP Exam scores on a separate index card.  Mix the cards well and then deal them face down into two piles of 15 cards each.  Be sure to decide which pile is Version A and which is Version B before you look at the cards.  
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= mean of AP Exam scores for Version A  = __________
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= mean of AP Exam scores for Version B  = __________

Difference in means  = 
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A negative difference in means would suggest that the mean AP Exam score for Version A was less than the mean AP Exam score for Version B. 
Repeat the process four more times so that you have a total of 5 trials.  Records your results in a table like this:


Mean AP Exam  

Mean AP Exam 

Difference in

Trial
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Make a class dotplot of the difference in means.  Sketch below:
What does each dot represent?
In what percent of the class’s trials did the difference in means equal or exceed the actual difference observed on the AP Exam last year?  Is the result statistically significant?  What conclusion can you draw about the two versions of the AP Exam? 
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